Money - Making totals and giving change
Making Totals

—

20p+10p=___
2. bp+bp+2p=___
3. 50p+20p+10p=___
4

. A toy costs 15p. You pay with a 10p coin and a 5p coin. What's the total?

Giving Change
1. A book costs 7p. You pay with 10p. How much change do you get?
2. An apple costs 12p. You pay with 20p. What is the change?
3. A ball costs 35p. You pay with 50p. How much change will you get?
4

. A sandwich costs 48p. You pay with £1. How much change do you get?

Challenge Question

You buy a toy car for 65p and a pencil for 20p. You pay with £1.
o  What is the total cost?

« How much change should you get?



